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Part-2
GENERAL INTELLIGENCE TEST

41, The value of P is 44. Three of the following four are alike in
a certain way and so form a group-

9 6 8
5 g 4 Which is the one that does not belong
- 4 to that group?
11 2 7
Ay 291
(A) O
i3 4 (B) 1215

i %
3 | {C) 143

42. The value of is D) 247

AR 45. How many meaningful English words
can be made with the letters RBAE
using each letter only once in each

word?
(31 223 (A} Three
{C) 224
. T § (B} None
(D) 1225
43. Which of the foliowing Venn diagrams (C) One
best represents the relationship among )
mangu, fruit and vegetable? (D) | Two
w3
S Z i
m— 46. In a code, TRAIN is written as ‘39# 7R
VAR o and MEAL is written as ‘4$#@’. How
O ) () is ITEM written in that code?
= (A) 7344
//—-\\-
@ 1O} (B} 7$34
\ \\__/ 7
(C) |73%4
M
¥ (D) 7954

SMASU-2016/5-B % [P.T.O.
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47. In a certain code, Yo ka ra' means
o for walk', ‘'ma fo ka' means ‘do not
walk”and 'sa to Jo’ means ‘good for you’
What is the code for ‘go’?

A o
(Bl o
(C) ka
(D) | ra

48. What should come next in the following
number series?

HB8812686123688123468612345687

(A} | 8
B 6
€1 .
D) 4

49, If @ means %, ‘© means *, ‘% means
+" and ‘$’ means “', then what is the
value of the following?

6% 1203 @883

(A)| 35
(B} 45
) 37

{I3) None of the above

SMASU-2016/5-B

50.

51.

52,

53.

QIK#P@IENSACGOUMT7FIV4Z8Y

i all the numbers are dropped from
the above arrangement, which of the
following will be the seventeenth from
the right end?

(A} @

In the set of observations
13, 6, 31, éS, 20, 39, 15, 36

if Y(13}= 7. Y(20) = 5 and Y(36) = 2, then
Y(25) is

(A) | 4
B) 10
) 8 |
D) 6 . |
How many $ are there in the following
series which are immediately followed

by a symbol and immediately preceded
by an even number?

53+$7 67487 @ 28547 + 47784 §7
A} Nil

iB) Four

{C) Three

{D) | Two

If ‘rose’ is called ‘poppy’. ‘poppy’ is
called ily’, ly’ is called 9otus’ and

Totus’ is called ‘gladiola’, then which is
the king of flowers?

{A} Gladiola
iB} Rose
{C} Lotus

(D) | Poppy

[P.T O
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(A) 1344
433

192
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D} 9
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54. There are four bags T, S, Vand W, each 58. What is (?} in the following?
having different weight. Bag T 1s lighter
only than S. V is lighter than W and
W is lighter than T. Which of the

24 126 :: 48 ; ?

following four bags is the lightest? (A) | 344
] (B) 433
B o

(C) 192
Gy W
o) 7 (D] 240

55, Meghna drives 10 ki towards south,
then she takes a right turn and drives 59. How many triangles are there in the
& km. She then takes another right following figure?
turn, drives 16 km and stops. How far
is she from the starting peoint?

A 1 km
B 16 km
(€110 km i 18
1 : ®
12l e km B) 11
56. What 1s (?) in the following? (Cy |13

Fox : Cunning ;; Rabbit : ?
Dy ¢

{A] Ferocious

B} Courageous
60, The value of ? is
(C) Dangerous

( 3,45’
(D) | Timid 39
OQ

57. What is {?} in the following?

(4

4ZCX . BYDW ' HQJO @ ? [A) 47
(A1 GRJP (Bl 35
(B] GRFP
(C)| 37
i{Ci IPKM
(D1} [PKN (D} 45
SMASU-2016/5-B 11 [P.T. O
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Part-3

GENERAL AWARENESS

61. The unit used to measure the 66.

supersonic speed is

{A) Richter

i3] hertz
{C}| mach
i knot
62. Which of the following substances is 67.
used for preservation of food grains?
[A] Potassium permanganate
(K] | Sodium henzoate
1T} Vihegar
(12} Sodium chloride
63. Which of the following determines the
humidity of a place?
e Peviseope 68.
(B} Hydromeler
(Ch Hygrométer
(D] Pyrometer
64. The atmospheric layer that reflects 5%

racdiation back to the earth is called
Al exosphere
‘B3t troposphere
71 stratosphere
Ty fanngphere
65. Wich of the foliowing States became

tne firsy State in the country to sign 70
Mol for UDAY Scheme?

At | Jharkhand
S Urrarakhand
o Uttar Pradesh

iy Madhya Pradesh

SMASL 204 /5-B 13

Where is the monastery known as
Hemis Gompa located?

(A) Bodh Gaya

B} | Ladakh

(C}) Gangtok

(D) Thimphu

In olden days, certain sari weavers of
Madhya Pradesh grew long nails and
macde slits in them so that they could

spin fine threads to make saris. What
are these saris called?

(A) Patola

(B} Sambalpuri
(C} | Chanderi
{0} Dhakai

.

Who introduced cashew nuts in India?
(A} French
(B} | Portuguese
iC] Dutch
(D} British
Which Indian President participated in

the Irish Freedom Struggle and even
served in jail term for it?

{A) Dr. Shankar Dayal Sharma
(B) Dr. 8. Radhaknshnan

(C) | V. V. Giri

(D} Neelam Sanjiva Reddy

. When is the World Environment Day

celebrated?
{A) December 5
(B} [June 3
IC) April ]
(D) Mayv &

P E,
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71.

72.

T3

74,

o A

Whe was  the chief architect and

fdesigner of New Delhip

4] Dhanpat Rai Chaudhary

iBl Le Corbusier

L |Edwin Lutyens

't None of them

‘Wnich of the following places is known
As the Emerald Islands®

4: | Lakshadweep

S Andaman and Nicobar Islands
Maldives

4 Zaman and Diu

Kushans originally belonged to
o TikEe
fean
1o ) Centra) Asia
(D) Chinese Turkestan
Which of the following Constitutional

Amendments restricts the maximum
~umber of Council of Centre and State
Ministers?

37th Amendment

= |5 st Amendment

+ird Amendment
93t Amendment
=:ter the accidental death of Humayun,

vnere was his son Akbar seated on
Mughal throne?

= | Kalanaur

=2 Kabul
-+ Lahore

~1 Sirhind
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76.

Who among the following Presidents of
India was elected unopposed?

(A) |Neelam Sanjiva Reddy

(B] Dr. Rajendra Prasad
(C) Dr. 8. Radhakrishnan

(D} K. R. Narayanan

77. The velccity of radio wave is

78.

79.

80.

(A} 3x10% m/s

(B} 1x108 my/s

(C) 13x10% mys

(D) 1x10% mys

The FM Broadcast™Band lies ip

(A)

VHF range

(B} UHF range
(C) HF range
(D} Al of the ahove

The speed of tape in the tape recorder 15
(A)
(B)

10 em/s

476 em/s

(C) 5 em/s

(D) 375 em/s

What among the following is referred
to measure river flow?

(A)
(B)

Richter scale
Anemometer

{C} Beaufort scale

(D} | Cumece
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